Monday Night Calculus, September 13, 2021
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4. Consider the function

1 .

— if x <1

X

V' 8x if2<x <8
8.0001 if x > 8

Determine the values aof for which the functionf is continuous.

f is discontinuous at = 0.

x =1:

fh=1*=1

lim f(x) = lim l:1 lim f(x)= lim x>=1'=1
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lim f(x) = 1= f(1)

x=2:

f(2) is not defined. Therefor¢ is not continuous at = 2.
x =8

f(8) =+8-8=164=38
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fis continuous everywhere butat= 0, 2, 8



5. Let the functions: andr be defined by:
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Let f(x) = sinx. Find f'(x).

sin(x + h) — sinx
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Graphical, numerical evidence?

. sinh
Geometric argument: cds< 0 <1



7. Let f be defined as
Vx=3 ifx>3

S = 6—2x ifx<3

Which of the following is true?
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